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1. AJIEA (human capital)

2. {EERESHT (value chain analysis)
3. RBHEA (agency cost)
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OHAXRYRY BEAH OHAXEHRYRHEN OUIRELHZ
ZHy OREFERERE OULWE .
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() 108 B #88 (multiple linear regression) 712 R 4B HEH (B) » FHHRME
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LAF /& B % % % (dummy variable) ? B ERWEEETTAH 1 2?7 A4 FE 76 4)

QERBUETE-HERLAR T EHEN T—HELHRE) RREHAEEL?C )

SEFAH THBHE ) K TREAF &L B THEREN %)) ETEEHN -
o TREFR) B THE) A¥EEY THERE A2 2ERE VK
T AU ZH - FARAU THM B2FHEA & THERE ) X255
FABRAEREY > EEREF R - FAEEUARAEE > BU TR 25
FHAH THERE #X22KB T AMEARRES  URAREHEE -

x- BEERERHES ()

| BHRBE— Dy D
| EEa (HRHE) (REHE)
| 1N
{ EIEE. I 0
! RiEE 0 1
: HA 0 0
B —
Coefficients ?
Standardi
zed
Unstandardized Coefficie
: : Coefficients : nis
i | Model B Std. Error Beia t Sig.
1 (Conslant) 4.397 1.793 2.453 017
Tk .561 .054 .681 10.472 .000
EEH 16.144 2.822 367 5.720 000
B 10.278 3.183 227 3.230 00
a. Dopendent Variable: {EZEEE
xZ EBSIHTE (Z)
BB Dy D,
| B85 (BIREL) | (REED
’ | BB :
! B R 1 0
; Rt E 0 1
: A 5 1
3.
Coefficients ?
! Standardi
zed
‘ Unstandardized Coefficie
Cocfficients nts
| Mode] B Std. Error Beta t Sig.
\ 1 (Constant) 13.205 1.956 6.751 000
ez 561 054 681 10.472 000
! BB 7.337 1.393 .305 4.606 000
B 1.471 1.805 060 815 418

a. Dependent Variable: BEE
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) NERBE PBRE -RER -HUZH £ THRAZWEHSE - 495
FRMIAHZBERLE 2N NEB?EH = EEE U2 BN NES > 4
frEmR? (54)

D) B THMh) 8 THRER W80 (WEEAY) e
PHR BER TREE WBEIRFEY > B A R o
FoRZWEBRE TREE HBES - 58)

EAAMAARE -JRA " - B THERE . B THER WBES - 54)

DARA - JARA = R F & H 4 (cquivalen A ? FHBE — RER K H R F
HEFANBREBAIFAGER - ET B EHESR2ATE? (54)

E- (RAEH L R)

AERADPH o BAEHHE BROVRIAER B ABE0a

BRPERENEBRER > A¥ATE-HEHNTRLA - LB E R THR? %

MTx® TEREI £ TEEAY) WEZHEFRHENE LA ?

Descriptive Statistics

N Skewness Kuriesis
Statistic Statistic Std. Error Statistic Std. Error
EisEd 76 -.085 276 1.4B7 545
23 AR 76 434 278 -802 545
Valid N {listwise) 76
4
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e —EREH AT S TR IARNLENT L BRAZARE

(1) Fiedia® (2) FHbAeSR (3) REAHER RIS LB
(4) 2 Ao @Ryt @&

. TaET-EHEREAAMNERR BB T RETRANERAA

#, (1)Psychoanalytical theory (2)Differential association
theory (3)Structuration theory (4)Symbolic interactionism

. E4{8(Max Webber)Arig ey “ideal type”, $E#E2 (EEAHD

AR (2) —RBBARARNELAR (3) ~HEXLAHIR
FAEme AR (4) BUGER X RN HM

. PR —f 8 Tohess | (functionalism) &3 2 (1)Tolcott

Parsons (2)Ralf Dahrendorf (3)Emile Durkheim (4)Robert
Merton

. R EH(positivism) B R LS E THARE? (1) 45

FRZBHAACLETOMED (2) BN AL AZE T A H108
BMARGER () LR ERUENE 06T L (4) LY
3

AR IEREE A4BRETHEHaMEFE BERADE

Wik (Q)EEE )RRk (DRBREWEE

C EAR B E—ERARTREA B BB EO T FRL

HAREEASEER/L (1) BeARE (2) HEARLK (3)
FlaEm (4) mBERR

BETHEREA T8 AXEE ) B ? (1) ThREALEY

#4 (2) o4esm (3) Rt EF KX (4) 2 %A (5)

BB

. A T ER&E® | (informal economy)3 492 (1) B#HE 5

EEHRHHEE (2) hoEneEiEe (3) A% BHE
AT R 5 (4) mEE A BLRR B Faag
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10, FAMTERE Tias5x 4, (Fordism) e ? (1) wAmmss

WY EERANEE (3) ERAHBATLENTS (4) &

H, TaMTHEARARE " soa@i | (knowledge economy) s 7 (1)@
HHRFTAFETNR BN (2) RERLETROTERE

() BEELEMFTHEBERYBENEE (4) S HBH M
HRETHBLEAE

¥ m.%%ﬁﬁﬁé%K&%ﬁ#%H@’ﬁ%W%%H@ArTﬂ
E HERARASARBE L THaBA (1) XLEA (2)
: If Mg (3) maKe (4) REF A

13 $MMFHMRA —EHER RALZHBRTITEMELE? (1)
HRERFF (2) 628 (3) B (4) eHE

M4 A TR R, BORTHEE? (1) BRMIERZL 4
; THREHBE (2) TEEEERR LN LEBYAFLEAR (3)
| EBFEMHESHRT AT ECGEE (4) HARATE b

15, 6BRELEHEBE UL nEMAFT LAY B TITRET 8

hER®H? (DEAELE (DBETE Dogxd (4) (DD
—#& (5)(2EB)—#F
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16. ¥hen in Sociology we speak of researchers ‘using controls’,
we mean: (1) being as precise as possible in defining an
initial hypothesis (2) holding some variables constant to
look at the effects of others (3) supervising the data

collection process as closely as possible (4) seeking to
manipulate the outcomes of a research process

17. An association between two variables which is in fact caused
: { by other factor(s) is called a: (1) multiple regression

(2)causal mechanism (3) spurious correlation (4)
discriminant analysis
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18, ¥hich of these is most closely associated with Marx’s
§ thinking? (1) integration (2) conflict (3) social facts (4)
- COnsensus

19. Which of these is a broadly Weberian idea (1) the main dynamic
of modern development is capitalist economics (2) modern
societies are in transition towards a Utopian mode]l (3)
rationalization is bound to progress further in all spheres
of life (4) all history is the history of class struggles

20. Which of these concepts is addressed in Foucault’s work? (1)

sexuality (2) discipline (3) discourse (4) all of the above
(5) none of the above

- MER: (Aw 52105 SEERHRI50 240 - )

L @269 T8R4 ) (embeddedness) M4m0 245 2 A R Hr A+
FE? -

2. }’iﬁﬁ_m“‘ﬂﬁ"rb{i’]%—@u ?
3. 4T T T4 4% 16, (McDonaldization) ?

4. 73 T H&FHWMA | (labor market flexibility) ?
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NATIONAL SUN YAT-SEN UNIVERSITY

MA Entrance Examination
Subject: English
Human Resource Management Department
March 25, 2007

This exam consists of a Grammar and Vocabulary part, and a Reading Comprehension part. The total

number of questions is 50 (2 points per correct answer). You have 100 minutes for this exam,

+ For the Grammar and Vocabulary part, choose the word or phirase that first best in the blank of the
given sentence.

¢ For the reading Comprehension part, choose the answer that comes closest to the meaning of the
text.

Grammar and Vocabulary

1. Anna Nicole Smith was dream woman.
4. many a man’s

b. many men

c. to marty Imen

d. of many men

: 2. it was a nice day, so Rebecca and Ben were letsurely through the park.
a. staggering

b. trudging

¢. strolling

d. limping

. Mary smiled at her little son, him his toy trucl.
. handed '

. handing

. and hands

. and handing

[o 2= al -~ VS Y

o

I canght him through the key hole,
staring

glancing

peering

seeing

20 op R

: 5. “Why didn’t vou eat more last night?”
‘ “1 awful if I had”

a. had felt

b. would have to feel

c. was to feel

d. would have felt

6. you pay your share, you cannot come with us.
a. Despite

b, Uniess

c. Once

d. While

7. Who won this year’s Oscar best supporting actress?
a. of
b. off

' ¢ fo

T d. for
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8. Karl works harder than ever, for fear his job.
a. of losing

b. to lose

c. he lost

d. his loss of

9. “You haven’t eaten in days. You must be hungry!”
“Hungry? [am [ind

a. exhavsted

b. parched

¢. famished

d. extremely

10. Her dog was run over a truck.
a. by
i b. from
¢. with
d.of

11. Please take this film to the photographer’s and .
a, develop it

b. make it develop

c. have it develop

d. have it developed.

12.1 to hand in my paper in time, Professor Ruskin.
a. will

b. should be able

C. camot

d. assure

i3, Would you have hit the robber, attacked you?
a. when he

i b. when he had not
" c. had he
d. having

14.“Tt isn’t the Olympic Games that will come to Kaohsiung, is it?*
e , itis the World Games.”

a. Yes

b. No

¢. Sure

d. Indeed

15. She invited me to her party our recent quarrel,
a. in spite of

b. out of spite for

c. spiteful of

d. to spite

16. Our new neighbors to be really nice.
a. turn

b. turned up

c. have turned out

d. turn down
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17. He was in asking her out.
a. interested
b. interesting
¢. irying
, d. detiberating

18. “Can you a secret? Bonnie is pregnant!”

a. hold

b. know
i c. keep
! d. tell

19. This cold snap will the sale of hats and scarves,

a. generate

b. initiate

c. stimulate
‘ d. emulate

a, appeal
: b. destination
i ¢, reason
: d. favorite

E 21. You are selfish and I don’t care for such a

a. behavior
b. act

: c. deed

| d, trait

22, “Was he serious?”
) “No, he was just
a a. a joke
| b. jocular
4 c. being facetious
d. laughing

L1

a. makes

b. is making

c. was making

d. has been making

a. would be very upset
| b. could’t care less
¢. wouldn’t try to find another one
i d. could easily find another one

a. had
b. took
¢. would have

¢, had had

26. I didn’t want fo say anything, but I thought he was extremely to her.

a. in love
i b. cargless
¢, rude
d. wrong

i 20. What is the of Taiwan for Japanese tourists?

23. Marparet drinks in the kitchen when Alice arrived.

24. [ don’t like my job very much. If I got fired tomorrow, 1 .

25, Twish 1 more time to study for yesterday’s exan!
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27.8heisa student: her work is always done on time.
a. diligent

b. direct

c. dignified

d. divergent

2B. A job as an HR manager a lot of talking with all sorts of people.
a. entails '
b. retails

c. revolves

d. evalves

29. The thief cannot have done that on his own: he must have had a
a, co-worker

b. colleague

¢. acquaintance

d. accomplice

30. Weightlessness must be a strange for astronants.
a. situation

b. effect

c. result

d. sensation

31. Please, you tell her: I don’t feel to giving her this terrible news.
a. obliged

b. necessitated

¢. capable

doup

32. John gets one day a week off from his job he can finish his thesis.
a. so that

bb. although

¢. unless

d. whereas

33, Are you by his argument?
a. believed

h. overcome

¢, persuaded

<. understood

34, That restaurant to pass the hygiene inspection for the second time in a row!
a, did

b. didn’t

c. lacked

d. failed

35. Sure, he hil her but 1 think she him.
a. provoked

b. prevailed

c. counteracted

d. prevented

36. The hope of big profits investors to the Chinese stock market.
a. allures

b. lures

¢. seduces

d. pushes
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. 37. Why did Britney shave off all of her hair, ?
: a. you think

b. didn’t she

c. would you

d. I'have no idea

38. Twon’t tell you: such persenal information isn’t of your business!
a. at ail ‘

b. publicly

¢. absolutely

d. any

39. They have been married for 29 years, and still have eyes for no one each other,
! a. despite
i b. accept
| c. but
| d. than

q 40. How can 1 my father to understand that I don’t want to work in his scrap metal business?
| a. make

b. get

c. talk to

d. convinee

Reading Comprehension

Lunch at Peggy’s on a Tuesday is heaven. Happy eaters heap their plates with fried chicken, black-
eyed peas, com bread and turnip greens, chase it down with glasses of sweet ice tea and finish with
banana pudding. This little family restaurant in Philadelphia, Mississippi, serves up top-notch
titillation for the taste buds. But when you drive off, you may wonder if you overdid it.

The South males sone of the best comfort fod jn the world, But the problem of southemn
; cuisine is that the generous doses of fat, sugar, and salt that make it good for the soul also make it bad
; for the heart. Southerners are much mare likely to be obese than other Americans. Some deny,
however, that southern cuisine is at fault, and blame the goose-step march of fast-food restaurants
southwards,

. ‘ {adapled from The Economist, March 3, 2007y

: 41. Peggy’s must be
i a. a house wife

b. a restaurant

! €. a grocery store

d. a food market

. 42, Banana pudding must be
i a, a dish of fruits

b. a sweet dessert

i ¢. a vegetable digh

d. a drink

43, “Comfort food”

a. is good for the soul

b. is generous

¢. comes from the American South
d. i “fast food™

i 44, The obesity of Southerners

; a. is caused by southern cuisine

' b. may be caused by southern cuisine
¢. is denied by some

" d. is caused by their goose-step march
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45. Tast-food restaurants

a. first appeared in the southern USA

b. unstoppably make their way from the northern to the southern USA
c. are serving southern cuisine

d. serve up top-noteh titillation for the taste buds

Drunken salarymen tottering home after a night’s karaoke are as much a feature of modern J apan as
sushi bars and budlet trains. Alcohol consumption is declining in most of the developed world, but not
in Japan, where the number of heavy drinkers has more than doubled in the past 30 years. The
Japanese have traditionally excused such bouts of heavy drinking as the only opportunity repressed
workers have to loosen up. But a horific incident last year in which a drunk driver killed three youn 14
children in Fukuoka has prompted a change of heart.

Toyota is in the vanguard of Japanese firms who want to do something about drunk driving,
and make a bundle for themselves at the same time. It plans to taunch a car in 2009 that will shut
down the engine ifits driver is drunk, using sensors on the steering wheel to measure the alcohol Jevel
in the driver’s sweat. If the driver is wearing gloves, a camera on the dashboard will check for dilated
pupils. {adapted from The Economist, Fi ebruary 17", 2007)

46. “Tottering” must be
a. walking unsteadily

b. humming songs

c. going by bullet rain
d. being drunk

47. As far as alcohol consumption goes,

a. Japan is following the general trend of the developed world

b. Japan is 30 years behind the rest of the developed world

¢. Japan has more than twice the number of heavy drinkers than 30 years ago

d. Japanese drinkers have, in the last 30 years, moved from lighter to heavier kinds of aleohotic
beverages

48. After the horrific accident in Fukuoka

a, the Japanese starfed to specialize in heart transplant surgery

b. the Japanese became less tolerant about drunk driving

¢. the Japanese began te consider ather ways for repressed workers to loosen up

d. the Japanese, out of kindheartedness, were prompt to excuse the driver’s behavior

49, Toyota wants to

a. make a car that prevent drunks from driving, even if it costs thern a lot of money

b. install sensors on the steering wheel that measures a driver's sweat, even if he wears gloves

c. make a car that cannot be driven by someone who is drunk, and make a lot of money from it as well
d. launch a car that slows down if its driver is drunk, so that the salarymen can get home safely

50. Dilated pupils must be a sign of
a. recent alcohol consumption

b. angry students

c. improper wearing of gloves

d. engine shul-down

End of the Entrance Exam English Test
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REIE, FE .
(WS ERHESTEENE THABBOEMETHEREEE ?
HERB. (10%)
QOKREBEASIENERIEME A HEREBEE ( HIMERE,
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EBRVRE 7 Fmik. (15%)
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B £)
F45(NTDS) 2,310,000 2,677,000 3,147,000
25 4T B 1,925,000 2,196,000 2,544,000
50 4B 2,273,000 2,652,000 3,099,000
75 48 B 2,697,000 3,160,000 3,746,000
EERs LFpEe

$j¢;](NTD$) 348,000 554,000

HERTHFNAE 1.8 3.0

EEENLR%) 92 85






